1 [Staniland (2) Bye 6
2 [Murrell M (2) 0 4 |Buckingham (6) 5
3 [Nickals P (3) 2 2 |Lataille M (5) 4

6 |Bye Lataille M (5) 4
5 |Buckingham (6) 2 2 |Nickals P (3) 3
1 [Staniland (2) 2 2 |Murrell M (2) 2

2 [Murrell M (2) Bye 6
3 [Nickals P (3) 0 4 |Staniland (2) 1
4 |Lataille M (5) 0 4 |Buckingham (6) 5
Round 4

6 |Bye Buckingham (6) 5
1 [Staniland (2) 4 0 |Lataille M (5) 4
2 [Murrell M (2) 2 2 |Nickals P (3) 3

i

Nickals P (3) Bye 6
4  |Lataille M (5) 0 4 [Murrell M (2) 2
5 |Buckingham (6) 0 4 |Staniland (2) 1




